
30Si Z = 14 N = 16 adopted link ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 255.620 ( 0.000) MeV

Energy T J+ J- J-other T1/2

-----------------------------------------------------------------------------------------------

30SI 1 | 0.000 0+ | | 1 STABLE

30SI 2 | 2.235 2+ | | 2 215 FS 28

30SI 3 | 3.498 2+ | | 3 58 FS 17

30SI 4 | 3.769 1+ | | 4 36 FS 9

30SI 5 | 3.788 0+ | | 5 8.3 PS 5

30SI 6 | 4.810 2+ | | 6 104 FS 15

30SI 7 | 4.831 3+ | | 7 83 FS 24

30SI 8 | 5.231 3+ | | 8 43 FS 21

30SI 9 | 5.279 4+ | | 9 83 FS 22

30SI 10 | 5.372 0+ | | 10 59 FS 21

----------- -----------------

30SI 11 | | 5.488 3- | 11 43 FS 12

30SI 12 | 5.614 2+ | | 12 21 FS LT

30SI 13 | 5.951 4+ | | 13 15 FS 8

30SI 14 | | 6.503 4- | 14 139 FS 35

30SI 15 | 6.537 2+ | | 15 17 FS LT

30SI 16 | | 6.641 2- | 16 21 FS 9

30SI 17 | 6.642 0+ | | 17

30SI 18 | | 6.744 1- | 18 14 FS LT

30SI 19 | 6.865 3+ | | 19 23 FS 16

30SI 20 | | | 6.915 (2+) 20 24 FS LT

----------- -----------------

30SI 21 | 6.999 5+ | | 21 104 FS 35

30SI 22 | | 7.043 5- | 22 0.83 PS 20

30SI 23 | | | 7.079 (1+,2-,3+) 23 14 FS LT

30SI 24 | 7.223 4+ | | 24 14 FS LT

30SI 25 | 7.256 2+ | | 25 35 FS LT

30SI 26 | 7.441 0+ | | 26

30SI 27 | | | 7.508 (2-) 27 24 FS LT

30SI 28 | | | 7.612 (4-) 28 13 FS 6

30SI 29 | | | 7.624 (2+) 29 17 FS LT

30SI 30 | | | 7.634 30

----------- -----------------

30SI 31 | | | 7.667 (1+,2+) 31 14 FS LT

30SI 32 | 7.810 4+ | | 32 12 FS 8

30SI 33 | 7.912 2+ | | 33 21 FS 15

30SI 34 | | | 8.105 (2+,3-) 34 24 FS LT

30SI 35 | | | 8.156 (1- TO 4+) 35

30SI 36 | | 8.163 1- | 36

30SI 37 | | | 8.191 (2+) 37 24 FS LT

30SI 38 | | 8.194 5- | 38 35 FS 12

1

http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=30Si 
https://www.nndc.bnl.gov/ensdf/


30SI 39 | | | 8.290 (1 TO 3) 39

30SI 40 | | | 8.333 40

----------- -----------------

30SI 41 | | 8.441 3- | 41

30SI 42 | | | 8.536 (3+,4+) 42 31 FS 16

30SI 43 | | 8.554 3- | 43 14 FS LT

30SI 44 | | | 8.596 (4-) 44 24 FS LT

30SI 45 | | | 8.639 (1+ TO 4+) 45 24 FS LT

30SI 46 | | | 8.672 (1-,2+) 46

30SI 47 | 8.684 2+ | | 47 24 FS LT

30SI 48 | | | 8.734 (0+ TO 3+) 48

30SI 49 | | | 8.799 (1,2+) 49

30SI 50 | | | 8.887 (0+ TO 4+) 50

----------- -----------------

30SI 51 | | | 8.898 (1-) 51

30SI 52 | | | 8.939 (2+) 52

30SI 53 | | | 8.953 (1,2+) 53

30SI 54 | | | 8.959 (5-) 54 17 FS 10

30SI 55 | | | 8.979 (1,2+) 55

30SI 56 | | | 9.035 (0+ TO 3+) 56

30SI 57 | | | 9.045 (3,4) 57 24 FS LT

30SI 58 | | | 9.104 (1-,2-) 58 24 FS LT

30SI 59 | | 9.107 6- | 59 24 FS 6

30SI 60 | | | 9.130 (4+,5+) 60 17 FS LT

----------- -----------------

30SI 61 | | | 9.166 (1+ TO 3+) 61 24 FS LT

30SI 62 | | | 9.255 (2+,3+) 62

30SI 63 | | | 9.308 (1 TO 3+) 63 24 FS LT

30SI 64 | | | 9.349 (4-) 64 24 FS LT

30SI 65 | | | 9.362 (1,2+) 65

30SI 66 | 9.367 6+ | | 66 17 FS LT

30SI 67 | | | 9.406 (1+ TO 4+) 67 24 FS LT

30SI 68 | | | 9.439 (1-) 68

30SI 69 | | | 9.474 (2+ TO 4+) 69

30SI 70 | | | 9.505 (5-) 70 17 FS LT

----------- -----------------

30SI 71 | | | 9.575 (1+ TO 3) 71

30SI 72 | | | 9.597 (0+ TO 4+) 72

30SI 73 | | | 9.604 (2 TO 4+) 73

30SI 74 | | | 9.620 (1-) 74

30SI 75 | | | 9.647 (3-,4) 75 35 FS LT

30SI 76 | | | 9.688 (0 TO 3-) 76

30SI 77 | | | 9.725 (0+ TO 4+) 77

30SI 78 | | | 9.760 (2+ TO 4+) 78 35 FS LT

30SI 79 | | | 9.768 (1,2+) 79

30SI 80 | | 9.774 6- | 80 24 FS LT

----------- -----------------

30SI 81 | | | 9.792 (1-) 81

30SI 82 | | | 9.816 (0+ TO 4+) 82

30SI 83 | | | 9.882 (3,4) 83
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30SI 84 | | | 9.897 (0+ TO 4+) 84

30SI 85 | | | 9.954 (4,5) 85 14 FS LT

30SI 86 | | | 9.958 (1,2+) 86

S-p = 13.514 ( 0.000)----------------------------------------------------------------------

S-n = 10.609 ( 0.000)----------------------------------------------------------------------

S-2p = 23.991 ( 0.000)----------------------------------------------------------------------

S-2n = 19.083 ( 0.000)----------------------------------------------------------------------

S-alpha= 10.643 ( 0.000)----------------------------------------------------------------------

S+p = -7.297 ( 0.000)

S+n = -6.587 ( 0.000)

S+2p = -16.160 ( 0.000)

S+2n = -15.787 ( 0.000)

S+alpha = -7.924 ( 0.000)

gap p = 6.218 ( 0.000)

gap n = 4.022 ( 0.000)

gap 2p = 7.830 ( 0.000)

gap 2n = 3.295 ( 0.000)

gap alpha = 2.720 ( 0.000)
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